
 

 

KRAMER ELECTRONICS LTD.  

USER MANUAL 
 

MODEL: 

Dolev Mounting Device 
For Dolev Speakers  

 

 
 P/N: 2900-300509 Rev 1 



Mounting Device –  Contents i 

 

Contents 

1 Introduction 1 
2 Getting Started 2 
2.1 Achieving the Best Performance 2 
2.2 Recycling Kramer Products 2 
3 Overview 3 
4 Defining the Mounting Device 4 
5 Installing the Mounting Device 5 
5.1 Attach the wall bracket to a concrete or stud wall 5 
5.2 Slide the Cover over the Wall Bracket 6 
5.3 Attach the Foam Pads to the Adjustment Clamps 7 
5.4 Attach the Platform to the Wall Bracket 8 
5.5 Attach the Speaker to the Platform 8 
5.6 Set the Tilt 10 
6 Technical Specifications 11 

Figures 

Figure 1: Mounting Device Active 2-Way, Bi-Amplified Studio-Grade Speaker 4 
Figure 2: Attaching the Bracket to a Concrete Wall 5 
Figure 3: Attaching the Bracket to a Wood/Stud Wall 6 
Figure 4: Sliding the Cover over the Wall Bracket 6 
Figure 5: Attaching the Foam Pads 7 
Figure 6: Attaching the Speaker Platform to the Wall Bracket 8 
Figure 7: Attaching the Speaker to the Platform 8 
Figure 8: Securing the Speaker 9 
Figure 9: Setting the Tilt 10 
Figure 10: Dimensions 11 

 

 



 

Mounting Device - Introduction 1 

 

1 

1 Introduction 

Welcome to Kramer Electronics! Since 1981, Kramer Electronics has been 

providing a world of unique, creative, and affordable solutions to the vast range of 

problems that confront video, audio, presentation, and broadcasting professionals 

on a daily basis. In recent years, we have redesigned and upgraded most of our 

line, making the best even better!   

Our 1,000-plus different models now appear in 14 groups that are clearly defined by 

function: GROUP 1: Distribution Amplifiers; GROUP 2: Switchers and Routers; 

GROUP 3: Control Systems; GROUP 4: Format/Standards Converters; GROUP 5: 

Range Extenders and Repeaters; GROUP 6: Specialty AV Products; GROUP 7: 

Scan Converters and Scalers; GROUP 8: Cables and Connectors; GROUP 9: 

Room Connectivity; GROUP 10: Accessories and Rack Adapters; GROUP 11: 

Sierra Video Products; GROUP 12: Digital Signage; GROUP 13: Audio; and 

GROUP 14: Collaboration. 

Congratulations on purchasing your Kramer Dolev Mounting Device, which can 

support up to 25kg (55lbs) and is ideal for wall mounting Dolev speakers. 



 

2 Mounting Device - Getting Started 

 

2 Getting Started 

We recommend that you: 

 Unpack the equipment carefully and save the original box and packaging 

materials for possible future shipment 

 Review the contents of this user manual 

  

 

Go to http://www.kramerelectronics.com/support/product_downloads.asp 

to check for up-to-date user manuals, application programs, and to check if 

firmware upgrades are available (where appropriate). 

2.1 Achieving the Best Performance 

To achieve the best performance: 

 Do not secure the cables in tight bundles or roll the slack into tight coils 

 

This equipment is to be used only inside a building. It may only be 

connected to other equipment that is installed inside a building. 

2.2 Recycling Kramer Products 

The Waste Electrical and Electronic Equipment (WEEE) Directive 2002/96/EC aims 

to reduce the amount of WEEE sent for disposal to landfill or incineration by 

requiring it to be collected and recycled. To comply with the WEEE Directive, 

Kramer Electronics has made arrangements with the European Advanced 

Recycling Network (EARN) and will cover any costs of treatment, recycling and 

recovery of waste Kramer Electronics branded equipment on arrival at the EARN 

facility. For details of Kramer’s recycling arrangements in your particular country go 

to our recycling pages at http://www.kramerelectronics.com/support/recycling/. 

i

!

http://www.kramerelectronics.com/support/product_downloads.asp
http://www.kramerelectronics.com/support/recycling/


 

Mounting Device - Overview 3 

 

3 

3 Overview 

The Dolev Mounting Device is a side clamping loud speaker wall mount with tilt 

and swivel that is designed for the Dolev speaker series and can hold a weight of 

up to 25kg (55lbs). 

The Mounting Device: 

 Has an adjustable clamp size of 135mm (5.3”) - 280mm (11”)  

 Features a +/- 7° tilt and 360° swivel 

 Features invisible wall fixing screws 

 Is simple to install and includes all the mounting hardware 

 Is supplied in pairs 



 

4 Mounting Device - Defining the Mounting Device 

 

4 Defining the Mounting Device 

This section defines the Mounting Device: 

 

Figure 1: Mounting Device Active 2-Way, Bi-Amplified Studio-Grade Speaker 

# Part Name Quantity # Part Name Quantity 

1 Wall bracket 2 8 M6x100mm screw 4 

2 Wall bracket cover 2 9 M8x65mm screw 2 

3 Tilting end cap 2 10 M8 steel washer 2 

4 Speaker platform 2 11 M8 Nyloc nut 2 

5 Adjustment clamp 4 12 Nut cover (for part 11) 2 

6 “Ultragrip Pro” foam pad 4 13 M4x12mm wood screw 6 

7 Plastic end plug 4    

      

# Fixing Kit Quantity 

 

A1 M4.8 x 32mm WOOD 
SCREW  

8 

A2 M6 STEEL WASHER 
(FOR PART A1) 

8 

A3 No. 8 WALL PLUG (FOR 
PART A1) 

8 

   

   



 

Mounting Device - Installing the Mounting Device 5 

 

5 

5 Installing the Mounting Device 

This section explains how to install the Dolev Mounting Device. 

 Attach the wall bracket to a concrete or stud wall (see Section  5.1) 

 Slide the cover over the wall bracket (see Section  5.2) 

 Attach the foam pads to the adjustment clamps (see Section  5.3) 

 Attach the speaker platform to the wall bracket (see Section  5.4) 

 Attach the speaker to the platform (see Section  5.5) 

 Set the tilt (see Section  5.6) 

5.1 Attach the wall bracket to a concrete or stud wall 

Figure 2 describes how to attach the wall bracket to a concrete wall: 

 

Figure 2: Attaching the Bracket to a Concrete Wall  

 

 

 

 

 

 

 



 

6 Mounting Device - Installing the Mounting Device 

 

Figure 3 describes how to attach the wall bracket to a wood/stud wall: 

 

Figure 3: Attaching the Bracket to a Wood/Stud Wall  

5.2 Slide the Cover over the Wall Bracket 

Figure 4 describes how to slide the cover over the wall bracket: 

 

Figure 4: Sliding the Cover over the Wall Bracket 

 
 

 

 



 

Mounting Device - Installing the Mounting Device 7 

 

7 

5.3 Attach the Foam Pads to the Adjustment Clamps 

Carefully peel off the protective film and stick the foam to the adjustment clamps 

(see Figure 5): 

 

Figure 5: Attaching the Foam Pads 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

8 Mounting Device - Installing the Mounting Device 

 

5.4 Attach the Platform to the Wall Bracket 

Figure 6 shows how to attach the speaker platform to the wall bracket: 

 

Figure 6: Attaching the Speaker Platform to the Wall Bracket 

5.5 Attach the Speaker to the Platform 

Figure 7 shows how to attach the speaker to the Platform: 

 

Figure 7: Attaching the Speaker to the Platform 



 

Mounting Device - Installing the Mounting Device 9 

 

9 

Secure the Dolev Speakers using the M4x12 wood screws supplied with the 

package (see Figure 8). 

 

Figure 8: Securing the Speaker 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 
 

 

 

 



 

10 Mounting Device - Installing the Mounting Device 

 

5.6 Set the Tilt 

To adjust the tilt, loosen part 11 (M8 Nyloc nut) and move the speaker to the 

desired angle and then retighten the nut and afterwards cover it, see Figure 9: 

 

Figure 9: Setting the Tilt 

 



 

Mounting Device - Technical Specifications 11 

 

11 

6 Technical Specifications 

Audio and Power 

DESCRIPTION: Dolev speaker mounting device, supports up to 25kg (55lbs) 

MATERIALS: Mild steel  

SHIPPING WEIGHT: 2.92kg (6.44lbs) approx. 

DIMENSIONS: 29cm x 26cm x 27.3cm (11.4” x 10.2” x 10.7”), see Figure 10 

INCLUDED ACCESSORIES: Fixing kit  

COLORS: Black 

Specifications are within a 10% tolerance and are subject to change without notice at http://www.kramerelectronics.com 

 

Figure 10: Dimensions 

http://www.kramerelectronics.com/


 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

This page is intentionally left blank 



 

 

 

For the latest information on our products and a list of Kramer distributors, 
visit our Web site where updates to this user manual may be found. 

We welcome your questions, comments, and feedback. 
Web site: www.kramerelectronics.com 
E-mail: info@kramerel.com 
 

 

 

 

 

 

 

 

 

  

SAFETY WARNING

Disconnect the unit from the power
supply before opening and servicing  

P/N: 2900- 300509 Rev: 1  

 

!

http://www.kramerelectronics.com/
mailto:info@kramerel.com

	1 Introduction
	2 Getting Started
	2.1 Achieving the Best Performance
	2.2 Recycling Kramer Products

	3 Overview
	4 Defining the Mounting Device
	5 Installing the Mounting Device
	5.1 Attach the wall bracket to a concrete or stud wall
	5.2 Slide the Cover over the Wall Bracket
	5.3 Attach the Foam Pads to the Adjustment Clamps
	5.4 Attach the Platform to the Wall Bracket
	5.5 Attach the Speaker to the Platform
	5.6 Set the Tilt

	6 Technical Specifications

